Multiplicera decimaler med negativa krafter pa tio

3485,9 x 0.0001 =

7823,8 x 0.0001 =

3799 x 0.1 =

Datum: Poéng:

6460, 1 x 0.01 =

4962, 1 x 0.1 =

5836,2 x 0.1 =

7867,2 x0.01 =

7209, 4 x 0.0001 =

9329,1 x0.01 =

2495,5 % 0.001 =

6157,7x0.1 =

4251, 1 x0.0001 =

3650 x 0.01 =

2973,7x0.01 =

6746,7 x 0.0001 =

9419 x 0.0001 =

8080 x 0.0001 =

5623,5x0.001 =

5930,3 x 0.01 =

3971,8 x 0.001 =
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Hedmy

Multiplicera decimaler med negativa krafter pa tio

namn:

3485,9 x 0.0001 = 0.34859

7823,8 x 0.0001 = 0.78238

3799 x 0.1 = 379.9

5836,2 x 0.1 = 583.62

7867,2x0.01 = 78.672

7209, 4 x 0.0001 = 0.72094

9329,1 x0.01 = 93.291

2973,7x0.01 = 29.737

6746,7 x 0.0001 = 0.67467

9419 x 0.0001 = 0.9419

Datum:

6460, 1 x 0.01 = 64.601

4962, 1 x 0.1 =496.21

2495,5 % 0.001 = 2.4955

6157,7x0.1 =615.77

4251, 1 x0.0001 = 0.42511

3650 x 0.01 = 36.5

8080 x 0.0001 = 0.808

5623,5 % 0.001 = 5.6235

5930, 3 x 0.01 = 59.303

3971,8 x0.001 = 3.9718
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Poéng:
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